
SAP ABAP table J_1AINFT03 {Inflation: definitive index ( values )}

J_1AINFT03

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

J_1AINDX [CHAR (5)]

J_1AVERSIO [NUMC (4)]

J_1AIDATEP [DATS (8)]

J_1AINFT01

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

J_1AINDX [CHAR (5)]
 J_1AINFT03-J_1AINDX = J_1AINFT01-J_1AINDX 0..N

1

J_1AINFT15

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

J_1AINDX [CHAR (5)]

J_1AVERSIO [NUMC (4)]

 J_1AINFT03-J_1AVERSIO = J_1AINFT15-J_1AVERSIO 
0..N

0..N

T000

MANDT [CLNT (3)]

 J_1AINFT03-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 J_1AINFT03-LAND1 = T005-LAND1 

0..N

1


